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Description of the model

Consumption:

(1) dcnpe = (1= @) ey

() gk =(1—6)ch,

Euler equations:
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Borrowing constraints:

(5) (1 + 7+ ere41) brepr = mokrisa

(6) (1 4+ 7+ enet1) bver1r = MuPry1knes

Budget constraints on the sectors:

(7) Cgt —|—ptcﬁt + th—H — (1 — 5) th —+ % (th—H — ]{?Tt)z = th%t + th_H — th (1 —+r 4+ 5Tt+1)

(8) C¥t+pt0%t+Ptth+1—(1 —9) ptk?NtﬂDt% (kney1 — k?Nt)2 =Pt (Utth)n+bNt+1_bNt (1+7+eni1)
Resource constraint:

9) Che + Ny + kv — (1= 6) kne + % (knts1 — th)2 = (ukne)"

Capital utilization and depreciation:

(10) U = Ug (Z—é)

(11) 0y :(5+b(u;ﬁ—ug>

Shocks Processes:

(12) ng = n(l]_p"nfﬁl exp (0pent)

(13) 6, =60, 0" exp (0peq;)

Borrowing risk premia:

(14) ETt = € (exp (th — bT()) — ].)

(15) ENt — €& (eXp (bNt — bN()) — 1)

State:{ T, <Xy, Yy, Nis ke, ke, bre, bae, e, Op, g, 0, g, €70, €8t }

Also define:

yre = kY ynt = (ukne)” GDP; = yri + poyne CONS; = c% + C% + pOCZJ\}t + poc%t

TBt = th <1+T) _th+1+bNt <1+T) _bNt+1 TB/GDP:TBt/GDPt N/T:yNt/?/Tt
Calibration:
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Impulse responses to a 50% negative shock to the borrowing constraint on the N sector:
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Impulse responses to a 10% positive terms-of-trade shock:
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